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General Instructions :

(i)

(iii)

Preparatory Course in Social Sciences (OSS-101) Questions 1-50.
All questions are compulsory, each of which carries one mark.

Each question has four alternatives, one of which is correct. Write the Sl. No. of
your correct alternatives/answers below the corresponding question number in the
answer sheet and then mark the rectangle for the same number in that column. If
you find that none of the given alternatives is correct then write 0 and mark in

column 0.

Do not waste time in reading the whole question paper. Go on solving questions
one by one. You mayv come back to the left out questions, if you have time at the

end.

qrar= (439 -

(i)
(i)

(iii)

grifses faam ¥ yrfyus uegaswy (3N.Ta.TdE.-101 ) 799 1-50
[t yvq a1frar €1 U 9v & foru ue o e ®)

gedd 99 o |19 AR foshe § foH 9 v 9@ 1 I et H frdemar 9@ sl / faswed o6 s
Td gvA T & A fod i fe 3H ofe & e W SE e o fag e | e ey i f
F13 ot fasrey wet 781 8 @1 0 ford 3R sview 0 ° ferg e |

9N Y9- 79 %! Ue H HHF Faig Ad SIS | Teh & oI5 Toh G99 1 hid S50 | Al are § 999 @,
A 99 g U I gAN T@l S Gehdl ¢ |
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1.  Social sciences deal with : =
(1)  social institutions and customs ~ (2) laws of motion

(3) plants and animals (4) all of the above

2. Political Science does not study :
(1) government and politics
(2)  political parties and voter behaviour
(3)  the laws of motion

(4) excercise of authority by the state
3. The National Sample Survey Organisation provides data on :
(1) agriculture : (2) industry

(3) labour (4) all of the above

4.  Which of these is not a source of secondary data ?

(1)  Population Census (2) Central Statistical Organisation
(3) Field work ~(4) Labour Bureau.
5.  The practice of a woman marrying more than one man is known as :
(1)  Monogamy (2) Poljmomy (3) Polygyny (4) polyandry

6.  Which famous sociologist studied the problem of suicide in society ?

(1) Durkheim (2) Marx (3) Weber (4)  Srinivas
7. Neolithic Revolution resulted in :

(1)  settled life (2) division of labour

(3) food surplus (4) all of the above
8.  Some typical stone age implements were :

(1)  plough ' : (2) spinning wheel

(3)  wooden digging sticks (4) none of the above

0S6-101 . 4



10.

11.

12.

13.

14.

15.

16.

Who was the inventor of the steam engine during the Industrial Revolution ?
(1) Richard Arkwright (2) John Kay

(3) James Watt (4) James Hargreaves

The writings of Karl Marx are associated with :
(1) Agrarian Society (2)  Industrial Society

(3)  Post - Industrial society (4) None of the above

The Jajmani system signifies :
(1) Independence of Castes . (2) . Independence of cohesive units

(3) Interdependence of Castes. (4) None of the above

Which metal was mined by Europeans in the ‘New World” during forced labour of the locals?

(1) Gold (2) Silver ' (3) Iron Ore (4) Copper

Which of these was not associated with the Industrial Revolution of the 18th Century ?
(1) factory system (2) invention of steam engine

(3) invention of bow and arrow (4) railways and steam ships

Which of these was a Fascist power during the world war ?-

(1) England (2) Germany - (3) France (4) Belgium

The ‘Cold War” ended with : :
(1)  the end of the second world war (2) the collapse of Soviet Russia

(3)  the partition of India (4) None of the above

‘Ashvamedha’ ritual was first performed in : ‘
(1) Vedic period (2) Maurya period

(3)  Gupta period (4) None of the above
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17.

18.

19.

22.

23.

24.

25.

Kanishka was the ruler of :

(1)  Shakas (2)  Pahalvas (3) Kushanas (4)  Guptas

In which period do we see the emergence of the ‘Samantas’ as a class ?
O

(1)  Early vedic (2) lLate vedic (3) Medieval (4) Modern

Which of these was not a leader of the Revolt of 1857 ?

(1)  Begum of Awadh (2) Nana Saheb
(3) Tantia Tope (4)  Nizam of Hyderabad

Which event triggered the Swadeshi Movement in the history of India’s freedom struggle ?
(1) 1857 Revolt (2)  Partition of Bengal (1905)
(3)  Partition of India (1947) (4)  World War 1 (1914)

What important event marked the launch of Civil Disobedience Movement in 1930 ?
(1) Champaran Satyagraha (2)  Dandi March

(3) Jallianwala Bagh Massacre (4) Peasants strike in Kheda

Bolshevik Revolution took place in

(1) Japan (2) Germany (3) Russia (4) France

Which article of the Indian Constitution makes untouchability a punishable offence ?

(1)  Article 15 (2)  Article 16 (3)  Article 17 (4)  All of the above

The idea of freedom of religious worship, tolerance and communal harmony is called :

(1) Feudalism (2)  Communalism (3) Secularism (4) Humanism

Which of the following is regarded as “a novel feature” of the Constitution of India ?
(1)  Preamble (2)  Fundamental Rights

(3) Fundamental Duties (4) Directive Principles
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26.

27.

28.

29,

30.

31..

32.

33.

Which of these is not a feature of the caste system ?
(1)  occupational classification (2) endogamy

(3) interdependence (4) equality

Which of the following is a currency of the member countries of the European Union ?

(1)  Yen (2) Dollar (3) Euro (4) Pound

When more people are engaged in a job that in reality needs a lesser number of people, we
call it :

(1)  unemployment (2) seasonal employment

(3) disguised uxwemploypent (4) educated unemployment

Which of these is not a characteristic of governance ?
(1)  Accountability (2) Corruption

(3) People’s participation (4) Rule of law

If a person wants some information from a Government Department, he/she can access it
with the help of :

(1) Right to Work Act (2) Right to Information Act
(3) Right to Education Act (4) Right to Property Act

Which of these activities can be included in the secondary sector of the economy ?

(1)  Mining (2) Forestry (3)  Fishing (4) None of the above

Which of the following was emphasized during the Fourth Five-Year Plan ?
(1)  heavy industry (2) removal of poverty

(3) irrigation (4) exports

At the time of Independence, India :
(1) was industrially developed (2) was one of the poorest countries

(3)  had a high rate of literacy (4) none of the above

0S56-101 7 P.T.0.



34. What is an important feature of ‘command-and-control” industrial policy ?

1
2)
3)

(
(
(
(4)

Free play of market forces

Encouragement to private sector

Seeking permission from government to set up production units

Foreign collaborations

35. Green Revolution is marked by :

(1)
)

HYV seeds and fertilizers (2)

Benefits to small farmers (4)

36. Air pollution occurs due to :

(1)
(2)
)
(4

discarding of plastic bags

Rice cultivation

Sustainable agriculture

dumping of sewage in rivers, ponds and seas

emission of poisonous gases from factories

excessive grazing by animals.

37. The House of the People in the Parliament is called :

(1)

Rajya Sabha (2) Gram Sabha

(3) Lok Sabha

38. The categories ‘Brahmin’, Kshatriya” "Vaishya” ‘Shudra” are termed as :

(1)

Jatis (2) Varnas

(3) Classes

39. The two classes in capitalist society identified by Karl Marx are :

(1)
(2)
(3)
(4)

feudal lord and serf
Zamindar and bonded labourer
bourgeoisie and proletariat

slave and master

40. Preference for male children is a form of :

(D)
(3)

0S§S-101

class discrimination (2)

gender discrimination (4)

racial discrimination

None of the above
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41. The number of deaths of infants per thousand of live births is called :
(1) crude death rate (2)  birth rate

(3) infant mortality rate (4) sex ratio

42. Population rate in India is high due to :
(1)  high birth rate and high death rate
(2)  high birth rate and low death rate
(3) low birth rate and high death rate

(4) low birth rate and low death rate

43. Which of these states has a sex ratio below 800 females per 1000 males ?
(1)  Andhra Pradesh (2)  Punjab
(3) Kerala (4) Karnataka

44. The Constitution of India is based on the ideals of :
(1) Oligarchy (2) Kingship
(3) Democracy (4) Militarism

45. The contemporary world can be described as :
(1)  multipolar (2) unipolar
(3) bipolar (4) none of the above

46. Gandhi propagated the concept of :
(1)  Trusteeship (2) Competition
(3) Class struggle (4)  Untouchability

47. In 2003, USA launched a massive attack on :
(1) Kuwait (2) Afghanistan
(3) Iraq (4) Pakistan

48. Which of these countries is not a member of SAARC ?

(1) India (2)  Pakistan
(3) Bhutan (4) China
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49. Movements in North-East India demanding the right to self-determination can be termed
(1)  Communal movements (2)  Ethnic movements

(3) Class movements (4) Caste movements
50. The term ‘NREGA’ is related to :

(1)  Emigration (2)  Education

(3)  Employment (4) Export promotion

055-101 10



grrfster fasm forad Heifud 22
(1) wrmfesw fagid vg dfa-fas (2) ifa =1 fagid
(3) URY Ud 99 (4) 39gEa gt

eIt fosm & forg o1 eterem aforfad & 82
(1) H ¥R Ug TsiHifd (2) USHITd® T T WA HI8R
(3) 7ifd =1 faeard (4) T B WHERRI 1 AR AT

UL gfaest e Hmed, fhg W A6 yeH F3a1 ¢ 7
(1) Ffw (2) ZEm (3) 4| (4) 3TF gt

frefafaa § @ =@ o1 f5dtas stiaei &1 Ed 76 €2
(1) STl ' (2) e wifegsa g1ed
(3) arsrhE 4) T

et nfgen =1 sk | 21fusk geui § fade F07 1 HaBR Hedm & ?
(1) U& Tcira (2)  ufferardt (3) =g faame gen (4) =gdfasw

forg S -9 GHSIORST 3 99T § 28 i HE 1 3189a T ?
(1) gafy (2) W (3 AR (4) HifaE

TIYTHTOT Shifd T GROTH o :
(1)  gfeer Sfrem 2) ga-faasH (3) @ sfwy (4) 3TF gt

FS T TR I F AR &
(1) = (2) =@
(3) TS | I G & wigdr (4) 3S9gEd H @ w1 oft T

et ifd & SRE 919 % 3979 1 snfashR feem fwan? -
(1) f=E sdhaze - (2 W%
(3) S e (4) e
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10.

11.

12,

13.

14.

15;

16.

17:

18.

(1) o g9 (2)  @vEfTE TS
(3) T-SAElfE T (4) wF H A w5 ot T

STSTATT et fhy gt © 7
(1)  SIfai &1 = (2) HEE THA & @A
(3) et &1 oA (4) I H A w1 off T

T @R g 49 o aRH 79 fava’ § gl 3 e ug w e #i 2
(1) = (2) = (3) W (4) dfen

frefafed o 9 faae, 18 df vadt &1 irenfirs wifd @ JUFR T& on?
(1) el =ree (2) WY 5 &1 nfaeR
(3) R 3R FHEM F1 AT=HR (4) o9 R ©H & B

(1) 3eie (2) T (3) WG (4) Sfesem

"oitd g5 w1 HEIfe e gE 7
(1) fgdra fava g5 w1 wfa (2) wifgad €9 F1 fasg
(3)  WRA FHT da (4) ITdE W F FE o TE

‘2rvany’ (Ashvamedha) TS & 3TRY FH F1A 2
(1) dfew w1 (2) WX wE
(B) T F (4) 3w H 9w off T

T Fal & wHE o ?
(1) IRt (2) Ygeord (3) e 4) T<

g & H 29 o7 & w9 ¥ ‘gHdl’ & snfavia #1 2@y § 2
(1) emfve dfew (2)  oAfqw dfew (3) HEHTAH (4) emyfTe
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19. fr=fafad § @ &M, 1857 & fage & et 78 42
(1) @Y & a9 (2) A ETRS
(3) dien e 4) devErE ¥ s

20. WA % Tdasd god & sfaerd § HF =@ geAa | eyl sieed 4 SR yae foran 2
(1) 1857 =1 fagm® (2) ST 1 SART (1905)
(3) URd 1 HAR (1947) (4) v fava g3 (1914)

o1, foh AUl = &1 o, 9 1930 ¥ |faa oTew Ao % IE e 9, Forar 82
(1) =R TR (2) it A
(3) Siferataren s gcThS (4) UeH FuUF gedd

22. Scuifash sifd el g8 2
(1) <™ (2) S (3) ®F (4) W

23.  WRAE HfGUE # RA AR, AT F GSAT SFTIAY T § 2
(1) A=< 15 (2) 3T 16 (3) =T 17 (4) udEd g

24, ifHe SuTEHn, Sfewd SR aivertas v - foemy ot s s TR g §
(1) HmHaEs (2) AT (3)  uHferEE (4) AHEER

25. frefafea § @ 8 ara & Sfagm &1 F9ata fagrear’ qm@ s & 2
(1) seferemt (2) HAYd 3fHFR
(3) AT FHA 4) Frevs fagia

26. fFreferfad § 9 == oY, sfq sxaen =1 fagoda 7&f 82
(1) =EEfas e (2) g faare
(3)  3fa:frefa (4) FHHE@

27. frefafga § 4 #1 , 0t 99 % 9 39 ot wE (1) 72
1) 3 (2) TR (3) I (4) USE
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28.

29.

30.

31.

32.

33

34.

35

el A W FH SN A AECFA B AR T8 FH A AV A6 S F S S, Feer

B

(1)  SSTRT (2)  HIEHT TSR

(3)  ToE AUS (4)  forferd SRTSTTRY
feiferfaa o 9§ wi o sAfaema 1 fovma 76 82

(1) SAmEeE! (2) Y=ER

(3) S HEWIHTEr (4) fafa =1 f12m

7z F1E =Afa TRt faumT 9 52 FF &1 Wi w3 =1ed € 9 98 fhaent Geed @ gu 9% g
zonfad & Hehal € ?

(1) = Afafem &1 Jfyar (2) = sfufan w1 SAfHER

(3)  foran syfufem o1 srfeepr (4) Hufa stfafram &1 AfyaR
frmfafaa § 9 @ =@ wfafafe w1, cderaren & fgdtas o o gfigfed e s g 82

(1) & (2) =it (3) wHDe! ded (4) STE H 9 HrE o T8
=reft JAT AT % SR fRe SR fem T 2

(1) W 3&m (2) e 3e

(3) fu=md (4) fafa

AT W o HA, YR
(1) irenfes &9 9 fasfag o (2) UH FefAam <9 e
(3) &Gl F1 3+ T I ST o1 (4) 3T ° | &g ot T

‘AT - I’ (command-and-control) i Hifq &t TEceul farear = off ?
(1) =TSR =l 1 Gell T

(2)  fAst & =61 FeEn
(
(

~—

3) TN | IcARA SISl i TITYA] A i STIAM &1 3931
4)  foeeil | HeAw i Wi

~—~

&fta sifd =1 o, e =erdr &2

(1) TAFE.. s T 3w (2) <Ed S Gl
(3) Y FUHI I Y (4) Torzam iy
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36. g WU 3cdfd 1 HROT B :
(1) enfes Sl ) F3 § He
(2) wfer St &1 Afea, dredl o) w7 =@l
(3) el | freher aren sl gai
(4) YA g erefe =wE

37. g ¥ T3d ATF fg WYel Heald ¢ ¢

(1) T 991 (2) T HT (3) i | (4) &3 9w
38, ‘amemr’, ‘afa’ ‘dva’ i v Auiq @ @t Sforl weerd €

(1) et (2) = (3) = (4) A
39, et I gR Yeitaral TaTS H yEfad 21 9 ©

(1) |l @re IR g% (2) STHIER SR Y3 7SgY
(3) HeH el SR st o (4) T AW 3R

40. agaﬁaﬁmuﬁqwém,mmmﬁaw%?

(1) it dgurE (2) S SEyTE

(3) T-IEH HguE (4) ST H 9 FIE ot T
41. Shifea 5= forgedi (ufd gsm o) 5a femgedi =1 Sen, weand €

(1) eronfad 9o &2 (2) W

3) Frg¥g (4) fefm s

42, XA ¥ STHEA S 6 I T FH FE R
(1) 3= 59 3 R 37 4, X
(2) 3= W SR A g
(3) 79 5 W R 3= gy R
(4) T 5 =2 SR e g =T

43. g T390 %1 S-qEY ST9E, 9fd 1000 gEET H 800 Afeernedi | fr= €2
(1) 79 gew (2) U9 (3) & (4) wAleH
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44.

45.

46.

47.

48.

50.

I =1 HidaaE, g snevl 93 enenfig 2 2

(1) sersmHfgTa (2) T (3) wHad

T fova 1 forg w0 =990 1 51 gadr 22

(1) =EYHm (2) TR B) T

T S A foRgeRT HeheudT w1 y=N fe 7
(1)  =nfgar (2)  wfqeasi (3) =t wed

g4 2003 W, ZUHW. | fFE T 7L EAC HI YEAA HI 7
(1) 44 (2) STRmITEH (3) =

frfafaa § 9 %9 @1 29, 99w 6 g2
(1) md (2)  wfEEE (3) Y™

(4)

(4)

e - fAuTr % JfaR &1 A el garay MRd % SAfEe e §

(1) =Tt saerer (2) TS ST
(3) = e (4) ST ST

‘r.e g s @ e E R B2

(1) Fear (2) foen
(3) IS (4) T G984
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